
 

Jeep Gladiator Rear Camera Relocation Kit  

Installation Instructions 

 

Thank you for purchasing our Jeep Gladiator Rear Camera Relocation Kit! 

Installation Notes: 

• This kit will relocate the rear camera from the tailgate to above the license plate, the view of the 

camera and guidelines will differ from factory view. 

• The view from the camera will be dependent on the location of the top license plate bolts on the 

bumper you are installing the mount on. 

Tools required: 

• 5/64” Hex Drive 

• 1/8” Hex Drive 

• 1/16” Hex Drive 

• 5/16” Socket or Wrench 

• 3/8” Wrench 

• T30 Torx Bit 

Contents of each box 

Bill Of Materials For B4WK12709 Jeep JT Rear Camera Relocation Kit 

QTY Part Number Description 

1 B4W075055P JT Rear Camera Relocation Bracket Inner Brace 

1 B4W075056P JT Rear Camera Relocation Outer Bracket 

1 B4W075060P JT Rear Camera Front Cover Plate 

1 B4W075061P JT Rear Camera Rear Cover Plate 

2 B4WJTRCG JT Rear Camera Cover Plate Gasket 

1 10C50KBCS #10-24 x 12 18-8 SS Button Head Socket Cap Bolt 

1 10CNNES #10-24 Nylock Nut 18-8 SS 

3 6C62KBCS #6-32 x 5/8” Button Head Socket Cap Bolt 

3 6CNNES #6-32 Nylock Nut SS 



Step 1: 

  With the tailgate open, use a T30 Torx bit to remove the rear camera access panel from the 

tailgate. Unplug and remove the camera housing from the tailgate. 

            

Step 2: 

Carefully remove the camera wire from the factory wire loom. Only remove a portion of the 

wire until the plug can reach to the top of the license plate. Pull the wire out of the tailgate and 

run it down to the top of the license plate. 

     

 



Step 3: 

Using a 1/16” hex drive, remove the three screws holding the camera in the camera housing. 

Make sure to keep the camera in the same orientation as you remove it. 

 

Step 4: 

Place the camera into the inner brace first and then place the camera and brace into the new 

camera bracket. Secure the camera into the bracket with the provide #10-24 bolt and nylock 

nut. Press the inner brace up against the camera while tightening to ensure the camera has 

minimal movement within the bracket. We recommended using anti-seize on stainless steel 

hardware. 

     

 

 



Step 5: 

Plug the camera back in and mount the new bracket using the top two bolts holding the license 

plate on the vehicle. Make sure the wire is not pinched and the bracket is centered. 

 

Step 6: 

Take the front cover plate with the Barnes 4WD logo on it and a gasket and place the three 

provided #6-32 bolts through each hole of the plate and gasket. Place the plate and gasket on 

the outside of the tailgate where the camera mounted with the bolts going through the hole in 

the tailgate.  

   

  



Step 7: 

Take the back plate and the other gasket and place it on the inside of the tailgate, going 

through the bolt holes. Using the provided #6-32 nylock nuts, secure the two plates against the 

tailgate. Make sure the plate is centered and level on the tailgate. Using the T30 Torx, reinstall 

the rear camera access panel back on the inside of the tailgate. 

    

 

 

Congratulations! You have finished the installation of the Barnes 4WD 

Jeep JT Rear Camera Relocation Kit 

  



 

Professional Services Disclaimer: 

The content of all pages of this website (collectively, the “Website”), such as text, graphics, images, information and other material (collectively, 

“Content”) is for informational purposes only. Any information furnished on this Website is not intended nor implied to be automotive advice 

and is not intended to replace personal consultation with a qualified automotive service technician, mechanic, or similar automotive professional. 

Barnes 4WD has not examined the Content for accuracy, timeliness, completeness, appropriateness, or helpfulness. Barnes 4WD does not 

endorse any specific tests, products, procedures, opinions, or other information that may be mentioned on this Website. Your reliance upon 

information and Content obtained by you at or through this Website is solely at your own risk. IN NO EVENT SHALL BARNES 4WD BE LIABLE OR 

OTHERWISE RESPONSIBLE FOR ANY DAMAGE OR INJURY (INCLUDING DEATH) TO YOU, OTHER PERSONS, OR PROPERTY ARISING FROM ANY USE 

OF ANY PRODUCT, INFORMATION, IDEA, OR INSTRUCTION CONTAINED IN THE CONTENT. 

BARNES 4WD DOES NOT MAKE ANY REPRESENTATION OR WARRANTY, EXPRESS OR IMPLIED, AT LAW OR IN EQUITY, WITH RESPECT TO ANY 

PRODUCT FEATURED ON THE WEBSITE, INCLUDING WITHOUT LIMITATION WITH RESPECT TO MERCHANTABILITY, FITNESS FOR ANY 

PARTICULAR PURPOSE, VALUE, VALIDITY, OR ENFORCEABILITY, AND ANY AND ALL SUCH OTHER REPRESENTATIONS OR WARRANTIES ARE 

HEREBY EXPRESSLY DISCLAIMED. 

 

 

 

 

 

 

 


